


If A=pcosda, +sinda, evaluate § A - dl around the path shown in Figure 3,21
Confirm this using Stokes’s theorem.
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Solution:
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where path L has been divided into segments ab, bc, cd, and da as in Figure 3.22,
Along ab, p = 2and dl = p d¢ a,. Hence,
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Along be, ¢ = 30” and dl = dp a,. Hence,
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Along cd, p = 5 and dl = p d¢ a,. Hence,
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{ g cos d dp = cos I°
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A-dl
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J A-dl = { p sin ¢ dgp = 5(—cos ¢)
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Along da, & = 60° and d1 = dp a,. Hence,
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Using Stokes's theorem (because L 1s a closed path)
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~ ButdS = pdddpa, and

?xﬁznﬂ[

Hence:
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